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I, THISCH o anRfET (ART—1)

Book Keeping, Accountancy and Auditing (Part — 1)

9o oMl @ fow e Rk BRe d P ey 2 5
The rules of debit and credit for a balance sheet says that

() TR SR 2 W A A A BRe o B w1 ot fou oT 21/

A decrease in asset and liability accounts is recorded as a credit transaction

(B) W@ﬁ?%%ﬁﬂé@ﬁﬁqﬁgaﬁéﬁema%wﬁaﬁﬁww%l/

An increase in asset and owner’s equity accounts is recorded as a debit transaction
(C) W%W’%gﬁaﬁwﬁﬁﬁﬁwaﬂﬁaéwﬁﬁﬁmm

?l/ A decrease in liability and owners’ equity accounts is recorded as a credit
transaction

(D) 9l IR SR Aot & g @t ¥ 9y @ e ST & Wy H et Ry

I & |/ Anincrease in asset, liability and owners’ equity accounts is recorded as
a debit transaction

mﬁw@%%mmﬁ%aﬁaﬁmmﬁaﬁwﬁmwmm
According to the Companies Act, the books of accounts of a company are required to be
maintained on: .

(A)  3fta omeh 8k gga U] 3R (Accrual basis and double entry system)
(B)  foi womel srerar w@e yomel ok <gar U] 3TIR (Accrual basis or cash basis

and on double entry system)

(C) @aa T Yol (Accrual basis only)
D) T 9 B 7 (None of these)

WB%W#MD@%,OOOWW@%?}I26Wﬁzrﬁzm—rﬁoﬁzm‘vﬁ8
wrzmooowﬁzmaﬁmwﬁmlwéﬁéﬁaﬁﬁﬁémzﬁmmﬁsmaﬁ

TI'§ e gfafke %\”!/ Company B had Rs.30,000 account receivable from

Company D. On 26th February, Company D made a partial payment of Rs. 21,000 to
Company B. The journal entry made by Company B to record this transaction is

(A) 21,000 ¥ P YIwg eIk} '9‘3'%7:‘/ A credit to the accounts receivable account of
Rs. 21,000

(B) 21,000 W & HE W ¥ BT / A credit to the cash account of Rs. 21,000
(C) 21,000 ®9Y BT e W ¥ WS / A debit to the cash account of Rs. 21,000

(D) 21,000 ¥ BT Y TR § e /A debit to the accounts receivable account of
Rs. 21,000 :
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MR T ¥ o & B aTe AT P S AE B il forn Wrel & 7
Income from gain in share trading is charged under the head?

(A) daH (Salary)

(B) 3T 1A 9 31T (Income from other sources)

Q\Tr?ﬂ'lﬁ o™ (Capital gains)
'ﬁff q Eﬁﬁ TRl (None of these)

2 1 Ry R ged ggel TR {Har S 2?7 / Which of the financial statements gets

prepared first?
(A) HI JATE P fdqiuT / Statement of cash flows

(B) yfaenRa Mg & [aERUI/ Statement of retained earnings
(C) doi ¥ie/ Balance sheet
(D) 3d fdaRUT/ Income statement

wmmmmwmﬁémam%m@%

- G ACIEIRCIG] g | / The long-term assets that have no physical existence
but are rights that have value are known as .

(A) 9/ Investments

(B) ST‘I?T Jfd / Intangible assets
(C) 3dct qufed / Fixed assets

(D) 7 W ®Ig 71/ None of these

56 7% & i & forg T 80%0 & e A BT -

Maximum Exemption u/s 80C for person of 58 years is :

) 150000
B) dd¥ 31 (1,75,000)
) T FHfe ¥ 34 (2,00,000)
D) S'ﬂf{ Bl ?ﬁg Tel (None of these)

ﬁﬂﬁ%ﬂ%@ﬂﬁ%@ﬁﬂ?ﬂﬁﬁqﬁﬁﬂﬁmwwé ................... Eﬁmﬁ‘r‘%‘l/

The assets that can be converted into cash within a year are known as
(A) f9E/ Investments
(B) @Tﬁ g/ Intangible assets
(C) J4H™ g®Ifed / Current assets
(D) T J PIg 781/ None of these
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10.

11.

12.

AU SHER & TAM | NP Ferd bt e § 2l ?

What is the TDS amount on a bill of Rs.1,00,000/- raised by resident individual advertising
contractor?

(A) 0 10,000
(B) %0 20,000
(C) %0 5,000
(D) 0 1,000

4 %9 S TF 9§ & AR BN I B, . BB €|/ The debts which are repaid

within a year are known as .

(A) 3THRAG TIATY/ Contingent liabilities
B) FR¥gd <HaIRAT/ Fixed liabilities

(C) A SHIRAT/ Current liabilities

(D) T9H ¥ B3 21/ None of these

T 58 YT AT BT B AT BT 4T 80 B TEeT AR AR G T Feni?

Under Section 80 D of the Income Tax Act what is maximum deduction is admissible fora
person of 58 years of age?

(A) S0 30000
(B) S0 25000
(C) S0 50000
(

D) ’s’ﬂﬁﬁiﬁé?&?f(None of these)
fafer srR BRo @ SRl B e 9l e uRRR @ amavs

As per law, the books of accounts of a company should be preserved for a period of:

(A) 08 Y (08 years)
(B) 05 9§ (05 years)
(C) 10 GL (10 years)
(D) § & B TE (None of these)

fo=it e g & SRM e ey ( Biee ok Fog S9N @ el W 21/ The
sales income (both credit and cash) during a given period is called .
(A) @ Red / Purchase returns
(B) TWHIMAR/ Turnover
() 9 Res/ sales returns
(D) 9 | BIS T8I/ None of these
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14.

15.

16.

e N T L T 1 T 21/ The account

that records expenses, gains and losses is called
(A) AT @I/ Nominal account

(B) fdeTTd @Idl/ Personal account

(C) drdIidd @i/ Real account

D) T ¥ @ 78l / None of these

Wﬁmaﬁﬁﬂ‘ﬁmﬁmiﬁmﬁ .............. T ST 81 / The process

of entering all transactions from the journal to the ledger is called
(A) o@id/ Accounting

(B) UIRET/ Posting

(C) Ugl/ Entry |

(D) TTH J B 781/ None of these

ﬁmﬁ?@m@wﬁmwaﬁwﬁmmmmm—éﬁaﬁﬁm
B ARy |

Only the significant events which affect the business must be recorded as per the principle
of

(A) 3fSTd (Accrual)

(B) @re] @@aHd (Going concern)
(C) 9IRAT (Materiality)

(D) T & FIg 7&l (None of these)

R @ R & 5 frd 6w e weeh @) R Refy @ < 81/ The

is a statement that shows the financial status of a company at any given time.

(A) T U3/ Balance sheet

(B) of$T @rdr/ Trading account
(C) oM™ 3R gifa fdaRuT/ Profit and loss statement
(D) SRIE doi/ Trial Balance
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18. 8 YT S fodll B &) S SeuIerd GO W BIerD AR B R IR

& BT AT BT & T o ®El ST €| / The ratio that refers to a firm's ability
to meet its short term obligations out of its short term resources is called .

(A) <IHYGHT 3UTd / Profitability ratio
(B) TIRifafer SFUIT/ Activity ratio

(C) IR SUTd/ Leverage ratio
(D) TRl AJUIT/ Liquidity ratio

19. @M TRe—1 ¥ 5 agRt &1 orRgie far ofar & —

Following transaction are accounted for in Sectional Journal-1:-

(A) T8 T 3MeRYT O YA T IR Bae FHRIGH fhar are &

(All adjustment transactions other than cash/bank payments)
(B) S®HERI & YA (Payment of contractors)
() e BT AT T T

(Payment of employees against establishment claims)

(D) & A H1g FE (None of these)

20. 999 & 9 oF w1 vl gy =g & 7

Which one of the following is not a fixed asset?

(A)  ¥a9 (Building)

(B) ®RGFT (Plant)

(C) ¥ Y (Bank balance)
(D) wH=R (Fumniture) |

21. THM U/ Current Ratio = :
(A) ﬂl’ciﬂtq%ﬂ'ﬁ/ maﬁa/ Current assets / Current liabilities
(B) 3fdd] Wﬁ‘ﬁ/ GREIE addlﬁéﬁ/ Fixed assets / Current liabilities
(C) U/ WM TR / Debt/ Current assets
(D) I/ SAI/ Debt/ Equity
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22.

23.

24.

P 3 9 59 @i @1 A9 U1 e B 8 7

Which of the following account usually has a debit balance?

(A) 3PeR P AR WAl (Advance to contractors alc)
(B) il fdshy @Al (Energy Sales Alc)

(C) &g & foru uraerd (Provisions for expenses)

(D) = ¥ P ol (None of these)

T TRy ¥ T WY DT TR B T 9ITAel BT B 1/ Bookkeeping

mainly consists of part of the accounting process.
(A) @l ER?W?T P 3PV HAT / Auditing the books of accounts

(B) (R RSIGEAR Rere B3/ Recording financial information
) facdig faaRur (IR @=A1 / Preparing financial statements
(D) fvelyoT / Analysing ‘

STl SREX JT Y o IR STeT P el By
Consider the following data pertaining to purchase of a diesel generator set:
BIoTel SREX U &I TId (Cost of diesel generator set) = Rs. 7,00,000

NEFRAEIRIIRIGET o= feur a7 ATEMIST (Transport charges paid to bring the generator
to our location) = Rs. 7,000

e TFvEx ¥e &1 T A %’ﬁ IR @) fear AT U (Installation charges paid to

the engineer for diesel generator set) = Rs. 13,000

T Rt 6 i we ¥ oo a1 S &
The amount to be capitalized is:

(A) %0 7,13,000

(B) %0 7,20,000

(C) %0 7,07,000
(D) =% q BIg Tél (None of these)
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25.

26.

27.

28.

IO BT MR T/ Y 9 AT AT ST g v —/ Revenue is generally. recognized
as being earned at the point of time when -

(A) ST Ix1 8 1 8/ Production is completed
(B) fem! e & Yol 8/ Sales is effected

(C) BT U g3 &/ Cash is received

(D) ':Ffﬁ 9 ﬁ’&f B (None of these)

Gl NE e 3R ﬁ@‘?ﬁﬁ QWB SHEE %l/ Copyrights, Patents and Trademarks are

examples of ’

(A) T FEafed / Current assets
(B) 3& WHT / Fixed assets

(C) 34’1?? gafa / Intangible assets
)

(D) M99 / Investments

& N BT AT e § & e @ § @) S 22 Net profit s calculated in which

of the following account?
(A) oM 3R BN grdl/ Profit and loss account
(B) 4§l ¥fic/ Balance sheet
(C) ¢RI Se/ Trial balance
(D) ofem Y[l / Trading account

ER?jSﬁ ol [ Iy Rafy & e @ Y[ch ferar @M FRY/ The charges of placing

commodities into a saleable condition should be charged to
(A) ofET YIdl/ Trading account
(B) @M 3R =N YIdl/ Profit and loss account
(C) 9ol ¥e/ Balance Sheet
(D) 79 ¥ BIS 7T/ None of these
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29.

30.

31.

32.

aﬂ‘fﬁ‘cﬁﬂhﬁ @ AT el RIS %\’l/ Suppliers personal a/c are seen in the
(A) fsh @i/ Sales Ledger
(B) T Tl 981/ Nominal ledger
(C) WG §81/ Purchases Ledger
(D) SIRA g8/ General Ledger

%oao,oooﬁwm%mﬁwmw10%@6&&%&@%%@%
mmmwélsﬁﬁmwmaﬁgﬁﬁwwﬁ?

An asset was purchased for Rs. 60,000 on which depreciation provided @ 10% on reducing
balance method. The WDV of the asset at the end of 3 years is:

(A) %0 48,600

(B) %0 43,740

(C) w0 39,366
(D) T q P13 78l (None of these)

fre & ¥ P feera @ ¥ fafed @ E ?

Which one of the following is an example of personal account ?

(A H3f=R @I (Machinery)

(B) <TWER WAl (Creditor)

(C) frar @idl (Rent)

(D) =% ¥ PI3 7ol (None of these)

WWWWWW%%W@WMWW%W?

What is the minimum service period required to claim pension on voluntary retirement?

(A) 3§ FH 25 99 (Minimum 25 years)

(B) H ¥ FH 05 T4 (Minimum 05 years)
(©) @9 W P9 33 99 Ud 60 qY I MY, S N UEA &

(Minimum 33 years or 60 years of age, whichever is earlier)

(D) g8 ¥ g el (None of these)
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33. B¢ UK 8/ Discounts received are -
(A) M @RIy dTel B faga g1 BC il ‘T?ff/ Buyer of goods granted discount by
seller
(B) He W B W & T Bkl / Deducted when we'receive cash

(C) BAR §RT a9 foTT WA € O19 89 SUR W 9MH 91 &/ Given by us when we sell
goods on credit

(D) 399 A ®1E &I/ None of these

34, T Ugel faml e oot iy o § |/ Sales invoices are first entered in -
(A) @Y g%/ The Cash Book
(B) WNIGNI SMdl/ The Purchases Journal
(C) ¥ed e/ The Sales Journal
(D) {91 WIAT/ The Sales Account

35. WY A # 9 Y M g / Entered in the Purchases Journal are -
(A) Bc g 53( / Discounts received
(B) WIT AT/ Purchases invoices
(C) wqﬁwm‘aﬂ B Y/ Payments to suppliers
(D) WNUR Y/ Trade discounts

36. oWidT B giedlv § B ffeiad # 9 fors wwfRa ® 2

From the accounting point of view, Loss means?

(A) @t @l goll § H4I (Decrease in owner’s equity)
(B) e H FH! (Decrease in assets)
(C) =@ % FH1 (Decrease in liability)

(D) 3 ¥ B T8I (None of these)
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37.

38.

39.

40.

41.

i BRAYRABT A2 FT TRR G- FR-53 TR © 7

FR-53 (Chapter — X) of Financial Hand Book Volume — Il (Part |l to V) pertains to?
A)  TTF (Pay)

B) gl (Leave)

C) Ir1 9l (Travelling Allowance)
D) " & BIg 78I (None of these)

doig wiie @ g W, TURN WY & fofy Wi WeuE W AY M ¥ 1/ At the balance

sheet date, the balance on the Accumulated Provision for Depreciation Account is

A) T9 3oi9 ofe § uRawfed & Fe foran AT/ Simply deducted from the asset in the

Balance Sheet

(B) <™ 3R gy W § wreaRd fda 47/ Transferred to Profit and Loss Account
(C) Fufed @ Wi ax e 1/ Transferred to the Asset Account
(D) HoUgT IR EIRIEG) / Transferred to Depreciation Account

(
(
(
(

el R BT F0 2,00,000 /— B IG (GOOAWl) o Trfed B
Goodwill of Rs. 2,00,000/- of a company is ................ asset.

(A) 3rae JHfd / Fixed Asset

(B) TCHMH 7 / Current Asset
(C) 3Fd WA / Intangible Asset
(D) 38 9§ PI3 78l / None of these

IS et i HT AN HEHd T8l g, 3R T f&aT ST 912G/ If a trial balance totals

do not agree, the difference must be entered in
(A) oM 3R B WA/ The Profit and Loss Account
(B) HHTA WIdTl/ A Nominal Account
(C) Uil @K/ The Capital Account
(D) <dfd WA/ A Suspense Account

WexT }dS T8I (Petty Cash Book) 1 3t 29 &1 8 2
The Closing Balance of the Petty Cash Book is:

(A) U®H gY/ An Expense

(B) Ud URWUlT/ An Asset

(C) U® 3MI/ An Income

(D) 9% A P13 eI/ None of these
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42. Todiodlo fofics & wfa fawi o 2022-23 @ fr=foRad el &1 saadd Hv:
Consider the following data pertaining to ABC Ltd. For the FY 2022-23:

SR ¥ HE T (Cash received from Debtors) = Rs. 90,000
TR W 99 IR F o4l (Decrease in balance of sundry debtors) = Rs. 30,000
Todio0 fifice dad SUR faga oxat 81 iy ad 2022—23 & figpa & iy e of:

ABC Ltd. Sells goods only on credit. The amount of sales made during
FY 2022—23 was: '

A) %0 60,000
B) %0 1,20,000
C) %0 30,000

(
(
(
(D) g9 | I3 T2 (None of these)

43. fieqe o QM Afaw FfY S o W qur i e gRT fbar o & 2

General Provident Fund (GPF) money & accounts of PTCUL is managed by whom?

(A) &3 FHany Al R P19 sma
(Employee’s Regional Provident Fund Commission)

(B) STRIITS ek HRUNTM folo BHART = (A wiows fAfd)
{UPCL Employees Trust (GPF Trust)}

(C) $~1F 9a9 U Yo I Frafery

(Central Salary & Pension Payment Office)
(D) T | BIg T2 (None of these)

44. NI 1941 B AR ATHAS SHERI & Il F B T a1l ATBR B A S
R AT E?
What is rate of deduction of tax at source on the bills of Professionals under Section 194J?
(A) 10 R (10%) |
(B) 4 YRIerd (4%)
(C) 5 YT (5%)
(D) g7 ¥ B3 &l (None of these)
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45.

46.

47.

48.

dodiodio fifree W %0 1,00000/— T §Y 2, T AR B qd H R TR (bad debt)
B9 @ BHRU IR (write off) B fev war o1 g9 I @1 fbg @ ¥ ST write (Credit)
FHRAT MY 2

Rs. 1,00,000/- received from M/s ABC Limited, whose account was earlier written off as
bad debt, should be credited to:

(A) fawa @i/ Sales Account

(B) OTNEd TG @I G¥ell W1/ Bad Debts Recovered Account
(C) kY WIdl/ Purchase Account

(D) T 9 @e 781/ None of these

o e 3 31.032023 @) AT fie a¥ @ TG Ae T A 5,25,000 B T, s
31032023 B TR I 75,000 T | @ T @ @ F e B A Tl Gt A
3 |

Urban Ltd paid salaries for the FY ended 31-03-2023 amounting to
Rs 5,25,000 while salary outstanding as on 31-03-2023 is Rs 75,000. The total amount to
be debited to the Profit and loss account is:

(A) %0 5,25,000

(B) %0 4,50,000

(C) %0 6,00,000

(D) 9% § BIg ol (None of these)

BISISIEER] ¥ P | qre] R TRl %/ Which of the following is not a current liability?
(A) @Iy a1fdfded / Bank Overdraft
(B) U f3d/ Bills Payable
(C) ¥R &g/ Outstanding Expenses
(

D) s IR q\iﬂ/ Equity Share Capital

S @ AR o AN STeREe o @ WWiYd 8/ Which Indian Accounting
Standard (Ind AS) deals with contingent liability ?

(A) S WTH0-2/ Ind AS -2

(B) S VWTH0-9,/ IndAS-9

(C) € RWTH0-37/ Ind AS - 37

(D) T 9 ®IE 781/ None of these
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49, Hﬁsﬁwmmooom% T Y[ IR Wb F 3,000 T A¥F & FAGH

50.

51.

52.

wIH Bl 1 BT / If average stock is Rs. 12,000, closing stock is Rs. 3,000 more than
opening stock then the value of the closing stock will be

(A) B/ Rs. 12,000
(B) ¥W/ Rs. 24,000
W/ Rs. 10,500
R/ Rs. 13,500

FIATER WaW TR B! Bl gy, FfoRad & ¥ 59 Sof 3 e

Office Building White washing expenses are:
(A) NISd I/ Revenue Expenditure
(B) UGN &4/ Capital Expenditure
(C) T ISR Y/ Deferred Revenue Expenditure
(D) 37H W B 721/ None of these

EIeT H gl AT @ Y @ §ew ot Sud R @ 8/ The method of

inventory valuation most widely used in Accounting is
(A) ©Td Hed/ Cost price
(B) dINIR e/ Market price
(C) ©IIIq T 9I6TR g 3| GT@'CE/ The higher of cost or market price
(D) NI AT 910K Hed W FH,/ The lower of cost or market price

A~ T afe qefue & 91 B A S fhe < SR ?

Closing inventory which is shown in trial balance should be taken to:

A) el (Balance Sheet)
B) oM™ U4 BN @Ml (Profit & Loss Account)
C) TS T (Cashbook)

(
(
(
(D) g7 ¥ I3 T2 (None of these)
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53.

54.

55.

56.

57.

e few fofics wre # PRl @ YA gl 8/ The minimum number of

directors in a public limited company is
(A) 1
B

Udh RIEEE] BH ... ¥ g TR N Gfﬁél/ A partnership firm cannot raise funds by issue

of
(A) §F @ T/ Bank loans

(B) qrifiey 70/ Partners loans
(C) SR/ Debentures
(D) GIIEAN TIG%/ Partners capitals

A § O PN TE TPR BT HUS F GEA T © 7
Which of the following is not a source of fund?
(A) arfaRRed 1 (Additional loans)

(B) <2eTRa} BT ¥ (Discharging liabilities)
(C) wwfed @ fl (Disposing assets)

(D) 9% q BIg ol (None of these)

5l aaie e @ forlad el 21 R FET O] &/ Any written evidence in
support of a business transaction is called

(A) Wel / Journal
(B) W 981/ Ledger
(C) S Tl QIRET / Ledger posting
(D) dr¥=R/ Voucher

P W AT FRIRO GeiH ATETS B QR Bl 2/ Which accounting concept
satisfy the valuation criteria?

(A) TIc] g, el ARCIRIG] / Going concern, Realisation, Cost

(B) el YadTd, oI, 3IEN Uge] / Going concern, Cost, Dual aspect

(C) T, RS Ugc], wfgarfedr/ Cost, Dual aspect, Conservatism

(D) i, wfearfaar, e IIU™ / Realisation, Conservatism, Going concern.
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58. RUUH W & &I TUHT g ¥ W) & o) € 2

Interest on Debentures is calculated on

(A) T 76 W/ It's Issue Price
(B) 9INIR eI WX/ It's Market Price
(C) 3ifdra Hed WX/ It's Face Value

(D) S ¥ B 781/ None of these

59. ‘T‘éﬁﬁ‘\ﬁ & fmfor Tq T (erection and commissioning) %@ @0 20,000 /— Bl HITATT 3l
el Tfae fd S =mRu 2

Rs. 20,000/- paid for erection and commissioning of machinery should be debited to:
(A) HYHd @I/ Repair Account
(B) S GR (UTE®) WIT/ Customer Account
(C) M W1,/ Machinery Account
(D) T4 9§ P13 T2/ None of these

60. I AT A fIaRVT oigieesT IR (account equation) @ e il gr & ?

Which financial statement represents the accounting equation 2
(A) dcf1 YA/ Balance Sheet
(B) oM Ud I+ & fJavul, Statement of Profit and Loss
(C) g YT fdaRT/ Statement of Cash Flows
(D) 3"@[ q a%rs‘ el / None of these

61. W Bl TR B Y Wa TN A FOT R T b BR B o) & 2

Debit of expenses of repair of building to buildings account is an example of:

(A) Agi~® FfeAT (Error of Principle)
(B) e WM drell FfAT (Error of omission)
(C) ®HI9 &1 FfeAT (Error of commission)

(D) g ¥ I3 T2 (None of these)
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62.

63.

64.

65.

afe e ¥R Terd W # URe B TS R Y W @ e v A forg <) g B W 3
YR B FET BT T 8 2

If the amount is posted in wrong account or is written in the wrong side of the account, itis
called:

(A) &9 31’21‘@/ Error of Omission

(B) &Tﬁ‘{% Cﬁﬂ?a'/ Compensation Error
(C) o\ a&ﬁ;/ Error of Commission
(D) 3 ¥ ®E 781/ None of these

HoSI0TH0 HT TR 7 7
What is the meaning of P.D.F. ?

(A) ol famrg M (Power Development Fund)

(B) fooft fawrd MR (Private Development Fund)

() ot & Rerg & forv facig AF (Power Development Finance)
(D) g™ & B3 el (None of these)

v A 3 75500 WO @ R @ & R @ qee e @) IR 25500 B & | S
31-03-2023 BT 50,000 B W AR Wk @S | I76 gRI {5 SR HT TRV

fpaT T & ? / Atrader has made a sale of Rs 75,500 out of which cash sales amounted
to Rs 25,500. He showed trade receivables as on 31-3-2023 at Rs 50,000. Which concept
is followed by him?

(A) T I / Going concern
(B) ¢/ Cost

(C) Tdmaiel/ Accrual

(D) 99 A9/ Money measurement

Ta7 R TN @ TERER W W0 40 RIS P @, Frferad § W fo sl 7 e o
Rs. 40 Crore spent on Renovation of Plant and Machinery is:

(A) YIS JI/ Revenue Expenditure

(B) Tpﬁ’ﬁ Y / Capital Expenditure

(C) IR ST e / Deferred Revenue Expenditure

(D) SR ¥ 9 @S T8l / None of the above
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66. 3T Al o [E1R{ J— B forg <&t o € |/ Fixed assets are held by business

67.

68.

69.

for .
(A) “THa # gRafda v/ Converting into cash
(B) RO ST~ B / Generating revenue
(C) Y fI5h9 / Resale
(D) T 9§ BIg &/ None of these

SOR (R & WM & 915, 3Tl Hed &

After preparation of Ledgers, the next step is the preparation of:
defdc / Trail Balance

)

B) qcTUd/ Balance Sheet
) o™ Tq BN &1 J4_0T/ Statement of Profit and Loss
)

D 's’ﬂf{ q c—bﬁ H’Eﬁ/ None of these

i TfeRie) sre fafies af ox af ol wefel @) qeaem @ g @R Heg somen
(Written Down Value/WDV) &1 3RV &Rl €, T &7 HRor:

Supreme Electricity Generation Limited follows the Written Down Value (WDV) method of
depreciation machinery year after year due to:

(A) gaﬁ‘lw DI ﬁﬁﬂ’d %/ Comparability Principle
(B) Rerar &1 Rrgia &/ Consistency Principle
(C) ‘\fﬁ?ﬂ i ¥¥gTT 8/ Convenience Principle
(D) 3';115[ q aﬁs‘ ?T'&pf/ None of these.

fferiga & | I =16 STERT & SFRTa ST | 7
Which of the following is a Current liability :

(A) F®T (Cash)

(B) 9&RIT @Y (Outstanding expenses)

(C) TR (Debtors)

(D) 3T q BIg &1 (None of these)

Page 18 of 31



70.

71.

72.

73.

g M & o FrEfRed ¥ ¥ 6w @ § @) O 8 ?/ Net profit is calculated in

which of the following account?
(A) oM™ 3R &Y @1aT/ Profit and loss account

(B) doig e,/ Balance sheet
(C) SIIe defd/ Trial balance
(D) f$T WAT/ Trading account

IR ‘@Rt WY T (Work in Progress) @1 3iftd oW Ffeqw &7 o T g1, arn
Understatement of Closing Work in Progress in a period will:

(A) Y& ™ 3! Al 9 8 W/ Understate net income in that period.

(B) afed AT & AN ¥ ®H 8 WU/ Understate Cost of goods manufactured.
(C) T uRwufcrar 98 ST/ Overstate Current Assets.

(D) SR H 4 P18 T8/ None of the above

20<)0TE03MTE0 (EDLI) &1 0 & T & 2

What is the full form of EDLI ?
(A) Sfead) T Wg@d $IRE,/ Equity Dealings Like Insurance
(B) UHcllgel feufore fofae m/ Employees Deposit Linked Insurance
(C) THclTgl e &1 3‘\%‘%’\’?/ Employees Dealing Long Instruments
(D) ﬁﬁ 9 aﬂg‘ T’cﬁ/ None of these

wHd o = W e 3 R B @ 2
Gross profit is equal to:
(A) | @M — T (Net profit — Expenses)
(B) fawpr — atf~aw Bfaam + 3 (Sales — Closing Stock + Purchases)

(C) fdsh — fdsh! B oI (Sales — Cost of Goods Sold)
(D) g™ & B3 78I (None of these)
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74.

75.

76.

77.

4T ¥DIfT b1 SfaRen § S TR & qeaide 8 WIBT YoTell BT FA1T B W

Under inflationary conditions, FIFO method of inventory valuation will lead to:

(A)  31f&® @™ BRT (Higher profits)
(B)  &H W™ BN (Lower profits)

(C) o™ H 5l YBR BT R A& T (will make no difference to
profits)

(D) g7 ¥ ®1g 7T&I (None of the above)

fedaR TR &7 TR BN arell 81 3T 39 YBR A1 ST 21/ Loss on issue of debentures

is treated as -

(A) 3P TR/ Intangible Asset

(B) dqTHM XX/ Current Asset

(C) T IR/ Current Liability

(D) fafdy g / Miscellaneous Expenditure

i @l &R TR B Sfde B SR W o ol Ml @) BT HeT. 69§ aRRig

%\'—/ The rule debit all expenses and losses and credit all income and gains relates to -
(A) THAT GIT/ Nominal account
(B) dRGIdd W/ Real account
(C) <O WIAT/ Personal Account

(D) SRIFT T4/ Above all

AT AT TERUTEOST 7 01 TaWRR 2022 Bl 20,000/~ BT BrATeR WeT | Ay & SRR, FA
Ui R W 10 FRT B X | YoIg oih 2 | o af 200223 B v Sart B

WX Hedg ™ 441 &I ?/ M/s Sham Enterprises purchased Furniture worth Rs 20,000/- on

1st November 2022. AS per policy, the company charges depreciation @ 10% on prorate
basis. What will be the depreciation on the said furniture for FY 2022-23 ?

(A) ¥ 9/ Rs.20,000/-
(B) ®WI / Rs.10,000/-
(C) ¥ / Rs. 8,333/-
(D) TTH ¥ F1F 78I/ None of these
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78.

79.

80.

e % & B A1 B T © 7

Which of the following statement is false?

(A) DIGH B FTAR HiST IV &9 I YA YR ©
(Credit balance as per cashbook means favourable balance)

(B) BIgH B AR ST AV 7 ) Suer Su &

(Debit balance as per cashbook indicates favourable balance)
(C) urigs # IR Ay &1 3k sfERgve Bl &
(Debit balance as per passbook means overdraft balance)

(D) T § BIS 7RI (None of these)
feae orar 49 (§8 V0ww0) 1 FefoRad # 9 e wwfd € 2

Indian Accounting Standard (Ind AS) 1 is related to which of following:
Ay facig EERIICH Q'ij?f/ Presentation of Financial Statements
(B) 31T B/ Income Tax
(C) ¥&e yarg fdavul/ Statement of Cash Flows

(D) 378 ¥ PIS T/ None of these

gfe:
giftr Tefaar— 0 5,500/~
HHaR— w0 2,500 /—
BT T w0 1,800 /—

OFER (Creditors) %0 2,500 /—
ar oH F W @ ol e € ?

if

Closing Stock- Rs. 5,500/-
Furniture - Rs. 2,500/-
Cash Closing Balance/- Rs. 1,800/-
Creditors - Rs. 2,500/-

Then, what is the owner’s capital ?

(A) Rs. 8,700/
(B) Rs. 7,300/-
(C) Rs. 12,300/

(D) s q BIS 781/ None of these
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81. Y forfics & @rdl # 01.04.2022 BT 1,00,000 /— TR BT I T IxGM B @I F ffdyy SeRy
T YOI A e 1 2| A af 2022-23 @ <IN 3,00,000 /— WU BT WA SUR A7
T © S fafdy SERT ¥ 2,00,000/— FW W §¢ €1 fAfdy <HER @i @ 31.03.2023

B YT Y R OB ?/ Y Ltd books of accounts shows opening balance of Sundry
Debtors on account of goods sold as Rs 1,00,000/- as on 1.4.2022. During the FY year
2022-23 goods worth Rs 3,00,000/- has been sold on credit while Rs 2,00,000/- has been
received from Sundry Debtors. What will be the closing balance as on 31.03.2023 of Sundry
Debtors Account?

(A) I / Rs.3,00,000/-

(B) ®W / Rs.4,00,000/-

(C) ¥ / Rs.2,00,000/-

(D) 99 & BIg 78l / None of these.

82. SMTMR IfEFTTH 1961 & AR, TF faciy a¥ # 180 A F 7 SwT A TS wwlfE w

T 2 (ST S A g / As per Income Tax Act 1961, allowable depreciation on asset
used for less than 180 days in a financial year willbe ..........

(A) 100 YR/ %
(B) 50 Ui/ %
(C) 75 YRR/ %
(D) 79 ¥ B3 78I/ None of these

83. U& teruc Hiford el &l urRAT Ife:

A Trial Balance will not balance if:

(A) TTER B W0 500/— T THE YIAM P WOR <F T ¥ W0 50/— F he 3k

THE WG H W0 500/ W wfee IR fa;T ST 81, Rs. 500/ Cash payment to
creditor is debited to Trade Payables a/c for Rs. 50/- and credited to Cash a/c Rs.
500/-

(B) TEl S Hfawd) < CIN URE @Y T g/ Correct Journal Entry is posted twice.
(C) YR TNIT F 7 WKI H ST 3R g W H plec B U1 Wl €/ The purchase

on credit basis is debited to purchases and credited to cash.

(D) 's’ﬁ"ef il 357?\5 721/ None of these
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84.

85.

86.

87.

v B & @l @) Rearel @ uar e @ f 31.03.2023 T 2,50,000/~ B BT
T frw T §1 F @ Joiw e F 39 IANE AAT B @ vy # faamn

WTTT |/ The books of accounts of a company shows that Rs 2,50,000/- is unpaid wages
as on 31.03.2023. In balance sheet of the company this unpaid wages shall be shown as

A) 3THRAG ST/ Contingent Liability
B) dIWH <A/ Current Liability
C) YA |Hfd/ Current Asset

D) G ®e 81/ None of these.

25 HF 2023 BT TP U T St T BV 50,000/~ W B AF S HA| <l BEA B
S e § 31032023 TP S AP AR F1 e T i T B | FEA B I GHEE

faaRor 4 ﬁ o= gopR g SIee — / On 25% March 2023 a company issued cheque
of Rs 50,000/- to Mr. Ramesh. But the bank statement of the company does not reflect
debit of the said cheque amount till 31.03.2023. In the Bank Reconciliation Statement
(BRS) of the company the same would be shown as :-

(A) F R AT T AfBA 3P T YR Tl fBA T/ Cheque Issued but not yet

presented

(B) % N TF RN g1/ Cheque dishonoured by bank |
©) ¥F § TUE TR o W T UF Frr e 3l T g &/ Cheque in transit
(D) &9 9 @S 81/ None of these. |

BETI—2010 (CTS-2010) A b & wHIfrd & 2
CTS-2010 Standards are related to

(A) §% WAl T/ Bank Fixed Deposits
(B) §® TH/ Bank Cheques

(C) @ Fv/ Bank Loans

(D) ¥4 9 #1881/ None of these

SeR 1 @ @ (e ageh ) SIS e | 8 8 @ Refd # i 1 iR
¥ o el A S (Credit) fam ST AR

In Case of a debt becoming bad, the amount should be credited to:

(A) 319Ney SER ETdl,/ Bad Debts Account
(B) XIe @I,/ Cash Account
(C) HUR U<l @Idl/ Trade Receivables Account

(D) Tt'fl'ﬁ q ?bﬁif 981/ None of these
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88.

90.

S & s foifics @ @il &1 ywia! § ga Fer & f 01.04.2022 7 Oty et @ @@ &
Ay WM 7,00,000 /— W & | fow A 2022-23 B SRIT HHHT 7 8,00,000,/— HHR BT GHA
Bfec W GUET, WHih 98 & IRM HW 7 IRy AR B 350,000/~ B BT AN

{3 | 31.03.2023 TF Ay @FeR & @A &1 FAUT 9Y @ — / The books of accounts of
S & S Ltd shows that as on 1.4.2022 the Sundry Creditors Account balance is Rs 7,00,000/-
. During the FY year 2022-23 the company purchased goods worth Rs 8,00,000/- on credit
while during the year the company paid Rs 3,50,000/- to Sundry Creditors. As on
31.03.2023 the closing balance of Sundry Creditors Account is :

(A) ¥ / Rs. 1,50,000/-
(B) ¥W / Rs. 4,50,000/-
(C) W94 / Rs. 11,50,000/-
(D) 78 W BIg 78l / None of these.

IS : 99 T AT B AT — W0 90,000 /—
JRMT TBfaan — %0 10,800 /—
3ifcm efoan ~ %0 16,000 /—

el Shd DI ART FJT BT 2

If: Cost of Goods sold- Rs. 80,700/-
Opening Inventory is - Rs. 5,800/-
Closing Inventory is - Rs. 6,000/-
Then, amount of Purchases:

(A) Rs. 85,200/-

(B) Rs. 95,200/-
(C) Rs. 1,06,200/-

(D) $7H ¥ B3 78I/ None of these

B0 2,00,000/— I AN dTel AT BT WRIH (Consignee) BT TNTT + 25% TR AW 741
A o I I T R 2

Goods costing Rs. 2,00,000/- sent out to consignee at Cost + 25% invoice value‘of the
goods will be:

(A) Rs. 1,50,000/-

(B) Rs. 3,00,000/-

(C) Rs. 1,00,000/-

(D) T A P13 TeI/ None of these
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91 QYR W A A [ B S wfafle F@r gl 2

Journal entry for sale of goods on credit will be:

(A) Sales Alc Dr
To Sundry Debtors Cr
(B) Sundry Debtors Dr
To Sales Alc - Cr
(C) Profit & Loss Alc Dr
To Sundry Debtors Cr

o7 9 @s 781/ None of these
92. T SIGYRN & SR, TRl B ... TR Fegifdrd @1 Sl & |

According to ‘Cost concept’, Assets are always valuedat..............

(A) T e / Purchase Cost

(B) AN Y@ / Current Value
(C) IR F¢¥ / Market Price

(D) ST W ®Ig 61/ None of these

93 ufe W U @ WG (Provision for doubtful debts) # I B € W, W A HI
gfRem BT 2
A decrease in the provision for doubtful debts would result in:
(A) el # gfg/ Anincrease in Liabilities.
(B) & (ﬁﬂ'ﬂ) o H Qﬁ;’ / An increase in net profit.
(C) EAREIRH T{\?ﬁ # w41/ A decrease in Working Capital.
(D) 3™ A ®s o1/ None of these

94. %0 15,000 FT T T Fp UG ) ARE W fFAT T 2, TR &7
Expenditure amounting Rs. 15,000 on repair of sub-station is in the nature of?

(A) uRRErer Td JFREY Y (Operation & Maintenance Expenditure)
(B) Yuilid & (Capital Expenditure)
(C) y9mgfad U (Administrative & General Expendlture)

(D) =% ¥ PIE ol (None of these)
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95.

96.

WA el s he e IR WM 99 § Jfe [ qd dia (SIUEe! Bl BisaR) &

mwmmﬁlﬁﬁ@a%mﬁzﬁ%eﬁﬁemmmﬁlwﬁﬁé@%
39 Id W S, 7 @ W & fofv 2,00,000,/— wR @1 W e At € 5 10
giaerd e e B AR B | Ul [ R 18 UiEd Siad) 9F § | WEdl uleiid
fofice 7 Tadidls. 47 faaRa &Y sk 8¢ @ I€ TaM SN T | 9 9! aree W

iSRRI B / Bhagawati Polypack Ltd sells goods on cash discount if full basic price
(excluding GST is paid in advance. Credit Note is issued in lieu of such discount. X ltd paid
an advance of Rs 2,00,000/- for purchase of HDPE Bags on the terms that 10% cash
discount will be allowed. 18% GST is chargeable on such sale. Bhagawati Polypack Ltd
delivered HDPE bags and raised Invoice after discount. The GST amount on this sale
invoice is :

(A) W9 / Rs.34,400/-
(B) ®W / Rs.36,000/-
(C) ¥ / Rs.32,400/-
(D) T W BT 751/ None of these

= o @ ® A W e g ?

Which of the following statement is/are not correct?

(A foma 53 T3 A1e BT 999 T sy TR B &
(Returns inwards are nothing but sales returns)

(B) U& 38! T8 W SR Wl I F @ SAvIHar el B
(A well maintained assets need not be depreciated)

(C) T (A) 3R (B) {Both (A) and (B) above}

(D) 394 9§ @13 78! (None of these)

UF FWA TP q84 B (oY 15,000/~ TG F G DRGH G I HRA 2, w6 e
¥ 202223 B foTQ IRaIfad WA aet 12,000/~ w0 B | ARt e g 17 3,000 /-

R Bl ¥ UHR HHAT ST —/ A company pays Insurance premium of Rs 15,000/-
against a vehicle while actual premium for the financial year 2022-23 is Rs 12,000/- only.
Rs 3,000/- paid extra is treated as :-

(A) faeg af 202223 @ eI A F I W%[/ Fixed asset in the Balance Sheet of
"FY 2022-23

(B) fad 9§ 2020—23 # i W ¥ gduE wEfd @ w9 ﬁ/ As current asset in the
Balance Sheet of FY 2022-23

() fac a¥ 2022-23 @) §oi9 e & R—gaarm IRF=f a% w9 # / As Non- Current
Asset in the Balance Sheet of FY 2022-23

(D) T | BIg 781/ None of these
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98.

99.

Ife : T A B AN — %0 2,00,000 /—

fasp — %0 1,80,000 /—
AT BT gfaerd ~ [0 AT HT 20%
ar. sifom vefear faar g 2
If: Goods Purchased - Rs. 2,00,000/-
Sales - Rs. 1,80,000/-
Margin - 20% on cost

Then, Closing Inventory =

(A) Rs. 50,000/
(B) Rs. 25,000/
(C) Rs. 75,000/-

(D) S8 W B8 &I/ None of these

Ugd fofice 7 #eRd 8R TeuTgoiet @ 12,000 /— oW &7 ®hY 991, {1 2,000 /— w0
ASUHeT <7 € 3R 2,000/~ T TAGIGEE! <7 8| $99 oivied &1 Raie oxe & o1y Sl
yfafie gnfy — /X Ltd sold scrap worth Rs 12,000/- to M/s. Hari Enterprises on which

CGST payable is Rs 2,000/- and SGST payable is Rs 2,000/-. The journal entry for
recording this transaction will be :

(A) M/s. Hari Enterprises Dr Rs.16,000/-
To Scrap Sale Account Cr Rs.12,000/-

To CGST Payable , Cr  Rs. 2,000/-
To SGST Payable Cr  Rs. 2,000/-

(B) Scrap Sale Account Dr Rs.12,000/-
CGST Payable , Dr Rs. 2,000/-
SGST Payable Dr Rs. 2,000/-
To M/s. Hari Enterprises Cr Rs.16,000/-

(C) Scrap Sale Account Dr Rs. 16,000/-
To M/s. Hari Enterprises Cr Rs. 12,000/-

To CGST Payable Cr Rs. 2,000/-
To SGST Payable Cr Rs. 2,000/-

(D) 394 ¥ ®Ig 781/ None of these
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100. X 3 el ATl fleell & Y BT 9| 1,/10 A YR (transit) § T T | @A §Y A T
9P e 0 12,500/~ &1 Aot B qof WY BT St Hed 1 & 2

X sent out certain goods to Y of Delhi. 1/10" of the goods was lost in transit. Invoice value
of the goods lost is Rs. 12,500/-. Invoice value of the goods sent out on consignment will
be:

(A) Rs. 1,20,000/-

(B) Rs. 1,15,000/-

(C) Rs. 1,40,000/-

(D) T 9 &g &1/ None of these
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Answer Key for Departmental Examination for Assistant Accountant Paper-l Held

on 13.08.2023

Question No. Answer Question No. Answer Question No. Answer
01 c 35 B 69 B
02 A 36 A 70 A
03 D 37 D 71 A
04 C 38 A 72 B
05 D 39 C 73 C
06 B 40 D 74 A
07 A 41 B 75 D
08 C 42 A 76 A
09 D 43 B 77 C
10 C 44 A 78 A
11 B 45 B 79 A
12 A 46 c 80 B
13 B 47 D 81 C
14 A 48 C 82 B
15 B 49 c 83 A
16 c 50 A 84 B
17 A 51 B 85 A
18 D 52 A 86 B
19 C 53 D 87 C

- 20 C 54 C 88 c
21 A 55 B 89 | ALLCORRECT |
22 A 56 - D 90 D
23 B 57 A 91 B
24 B 58 C 92 A
25 B 59 C 93 B
26 C 60 A 94 A
27 A 61 A 95 C

.28 A 62 C 96 B
29 c 63 A 97 B
30 B 64 C 98 A
31 B 65 B 99 A
32 D 66 B 100 D
33 A 67 A
34 C 68 B

P
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ARITHMETIC (Part — 2)

0, 3,8 15, 24, 35, ... 3T DI ITC AT FqT BA?

The next number of the sequence 0, 3, 8, 15,24, 35, ......... is
(A) 46 (B) 47
(C) 48 (D) 50

O BT (154 X 126 X 289 X 982) ¥ IS i a1 BT 7

What is the unit place number of the multiplication of 154 x 126 x 289 x 982 ?
(A 2 B) 1
€ 4 (D) g9 ¥ BIg &1 / None of the Above

1,2,5, 26, ... STIHH BT SRl T aar grfY?

The next number of the sequence 1, 2, 5,26, .......... is
(A) o717 (B) 47
C) 52 (D) 156

5624 H BIE ¥ BIE G T SiIG! WY b NS 5 9 qoiaan favad 8 9 ?

What smallest number can be added to 8620 to make it exactly divisible by 77
(A) 2 (B) 3
C) 1 (D) ST ¥ @13 78l / None of the Above

FTHH 0, 2, 8, 18, ......, 50 BT TG AT B~

The missing number of the sequence 0, 2, 8,18, .........., 50 is -
(A) 28 | (B) 30
C) 3 (D) 36
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6— 44444444/ 7?7 = 11

(A) 404040 (B) 4040404
(C) 4040401 | (D) " § P13 el / None of the Above

7— R 23474 9 ol TS © -
The number 23474 is exactly divisible by -
(A) 2 and 3 only/ Bac 2 TAT 3 (B) 2 and 4 only/ dad 2 TAT 4
(C) 2and11only/ @ad 2 @1 11 (D) 2 only/ Bad 2

8~ ‘@’ 228 I M @R & AR 18 A TU B | ‘@’ BT < DT BT I g1 A &
‘a’ divides 228 leaving a remainder 18. The biggest two digit value of ‘a’ is -
(A 21 (B) 70
(C) 35 (D) 30

o— e et W -3 W Bl © -
Which of the following fraction is the smallest —

9 17 28 33
13’ 26’ 29’ 52’

(A) 33 B) 17
52 26
(&) (D) 28
13 29

10— frafeled § F fa T 125 § faafom gkl €
How many of the numbers are divisible by 1257
250, 369, 491, 625, 751, 865, 985 AT 1125
(A) 5 B) 2
€ 3 (D) g q B3 78! / None of the Above
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1=

14—

15—

6/13&#%@?{1#@%@@%%?

If 6/13 is converted to decimal number then what will be that number?

(A)  0.046158 (B) 461580
(C) 0461638 (D) T 9 P 78l / None of the Above
= & A9 B T BT —

Calculate the value of —
0.77777 + 0.7777 + 0.777 + 0.77 + 0.7 + 0.07

(A) 387247 (B) 380247
(C) 385274 (D) 386274

T TS A W T B A A1 /3 9 S quT 11/15 9 Bl § 7
Which of the following number is higher than 1/3 but less than 11/15?
(A)  3/8 B) 5/9 )
©€)  9/11 (D) T W Bl 7El / None of the Above

101.505 + 10.02 X 23 =7

(A) 124551 (B) 125461
(C)  134.651 (D) 9% ¥ @IS 78l / None of the Above

3l A3 BT HEH FHIYGd T YA GAIIacd sl 26 TRIT 1820 © | IfQ
T W UG W7 130 B, o quW e ay grfl ?

The HCF and LCM of two numbers are 26 and 1820 respectively. If one of these
numbers is 130 then what is the other number?

(A) 70 (B) 1690
(C) 364 (D) 37H ¥ @13 78l / None of the Above
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16—

17—

18—

19—

20—

195 T B AdEmel & gt BT e © -

The average of squares of number1to 5 is -
(A) 11 B 5
(G 8 (D) 9

A WU 123 & U § § T SPT Few AHIGD 48 | A G § ?

If three numbers are in the ratio 1:2:3 and their HCF is 48 then what are these
numbers?

(A) 64, 128, 192 (B) 36, 72, 144
(C) 48 96, 144 (D) 3=H ¥ BT 72l / None of the Above

0.1111 X 0.010 = ?

(A 011110 (B)  0.001111

(C)  0.110110 (D) g9 | B3 ToI / None of the Above
24 B gloerd # 9 |
2.4 converted to percentage is -

(A)  0.24% (B) 24%

(C)  240% (D) 24%

U HEAT # Ugel 10 U &1 H BT aRN 2 AR 9D 915 10 IR @ 9y B

SR § 1§ GPR U g3 WA el N W 100 B § | A G ST B |

A number is first decreased by 10% and then increased by 10%. The number so
obtained is 100 less than the original number. The original number is -

(A) 100000 (B) 100
(C) 1000 (D) 10000
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21—

22—

25—

BUS T AT 25 WU HH X ¢ W I fam! B A A 20 Gk @ gig @l
TE off | TEIAR HM &I Gohal Ui W 7 479 9T 7

When the price of cloth was reduced by 25%, the quantity of cloth sold increased
by 20%. What was the effect on gross receipt of the shop?

(A) 5% increase / ?ﬁa’ (B) 5% decrease / FHI
(C) 10% increase/qf?g' ) (D) 10% decrease / BHI

3) Gl BT JfaR O el g€ Gl @ 20 Ui B SRR 8| AT OIS HeE
20 B a1 997 5w a1 gy ?

The difference of two numbers is 20% of the larger number. If the smaller
number is 20, the larger number is -

(A) 25 (B) 45

(C) 50 (D) 30
54 R B ?

(A) 90 wfaera (B) 130 gfeera

(C) 125 gfaerg (D) g% ¥ ®Is 781 / None of the Above
? BT 14 YT = 0.007

(A) 005 B) 05

(C) 0005 (D) g W PIT 78! / None of the Above

Ufg il @ I8 Gad TSI AT ST I Y 3, 5, 8, 12 AT < W 2 9
T |

Find the greatest number of five digits which when divided by 3, 5, 8, 12 have 2
as remainder?

(A) 99958 (B) 99960
(C) 99962 (D) ST° J B3 T2l / None of the Above
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26—

27—

28—

29—

1,357 9 11 . S 25 A3l T i fohaer B ?

The average of 1,3,5,7,9, 11, ....... to 25 terms is -
(A) 125 (B) 25
(C) 35 (D) 50

<1 fRTaT Y Y B AU 5 9 B IR ST W UH B A1Y ¥R 40 9 31
8 | IFD! Mg T AT fohem a g ?

The ratio of ages of two persons is 5:9 and the age of one of them is greater than
the other by 40 years. The sum of their ages is -

(A) 180 (B) 140
(C) 160 (D) 150

&Y @1 Mg 40 ¥ & 3R R B Y 60 9 ¥ | f5e o Uzl S Y BT S
3:5977

Harsha is 40 years old and Ritu is 60 years old. How many years ago was the ratio
of theirages 3:5?

(A) 10 ¥/ years (B) 20 TY/years
(C) 12 T/ years (D) 15 T¥/ years

A, BTG C @l 3INId 1g 20 g9 71 B 3R C &1 o 9y 25 7 2| A BT 3G 7

g7

The average age of A, B and C is 20 years, and that of B and C is 25 years. What
is the age of A?

(A) 20 'cmclyears (B) 10 El“f/years
(C) 15 Er&c/years (D) 25 aﬂ‘/years
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30—

31=

32—

33—

A,BUGC 7 2:3: 5% U H U-I-30+1 Yol &1 e 51| S9 A18l @1 dem
1 U fort 3 & forg A, Bud C o fdwr b, 40 2 03 81 R ¢ 1 amaiw A
@ AT W 1,47,000 B ARH B, G B BT AT 8-

A, B and C invested their capitals in the ratio of 2:3:5. The ratio of months for which
A, B and C invested is 4:2:3. If C gets a share of profit Wthh is Rs. 1,47,000 more
than that of A, then B’s share in the profit is:-

(A)  1,26,000 (B)  1,68,000
(C)  1,05000 (D) 1,89,000

HHIER J %0 30,000 TBR U GebI JRF Pl | TR AE G 60 45,000 TGN BT
$9 g H WIS 81 TAT| 31 qY B ST H Bl W0 54,000 B AN H Y BIe] H AT
a1 I ?

Manohar started a shop investing Rs.30,000/-. After four months Kalu became a
partner by investing Rs.45,000/-. After two year the total profit was Rs.54,000/-.
What will be Kalu’s share of profit?

(A) %0 15,000 (B) %0 30,000
(C) %0 45,000 (D) 3" & BIS &1 / None of the Above

A B FM 6 el # IR o T 3R B I FM @1 9 Al #| AR I Mdew ™
& Al 981 B foba A1 A 1 far <1 wa g ?

A can do a work in 6 days while B can do the same work in 9 days. How many
days will both take together to complete the work?

(A) 75 (B) 54
C) 38 (D) 3

A el feoddl B T 12 faT # qR1 &R Hahall © 1 A 3R B Merax I &M @ 8 fad
H QR1 FR Fhdl €| B Aol I BRI Bl QT B W b1 GHg o ?

A alone can complete a work in 12 days. A and B together can complete it in 8
days. How long will B alone take to complete the work ?

Ay 24 (B) 18
C) 16 (D) 20
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34—

35—

37—

38—

<, AR a7 W] {5 @ A 8 A, 12 37 T 24 A H W @R W
¥ 5 ol B Al e fhae fem # v e | ?

Raman, Neeraj and Raju can complete a work in 8 days, 12 days and 24 days
respectively. In how many days they will complete the work if they work jointly?

(A) g feH (B) 2f&
€ 4feF | (D) 3% ¥ P13 78l / None of the Above

5 T&Y f5ll @1 @1 6 37 # 1 9% el & afe Aleey S 5 fa T A QR AR wahell
1 5 AR TUT 3 GHY fAea] 9 BM @ fead o 4 Q@ v -

5 men can do a piece of work in 6 days while 10 women can do it in 5 days. In how
many days can 5 women and 3 men do it.

(A) 4 B) 5
C) 6 (D) 8

3 UIEY N UG Q U U Bl THl BT HHI: 90 TAT 10 IS H R FHd ¢ | IS SH
gIgul B U 9T Wil o W, o €t fbam wve § R oAl ?

Two pipes N and Q can fill a water tank in 90 and 10 hours respectively. If they are
opened together, then how many hours will the tank be filled?

A) 9 B) 20
(C) 18 D) 7

T 99 20 g9 ¥ 720 fH @ AT T HRA B | AR /ADvE H 3D A T B
AT IR —
A bus travels 720 km. in 20 hours. Calculate its average speed in meters/second.

A 12 B) 15
C) 18 (D) 10

0.00033 T TR = § ggo™ W 1 74 fFerm ?

If 0.00033 is converted to natural fraction, then what will be that fraction?

(A)  3/16000 (B) 1,/2800
(C)  1/3000 (D) g% & B3 Ta! / None of the Above
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39—

40—

41—

42—

43—

fferRed § uea fae () @ 9 W FT S
What will come in place of question mark (?) in following:
V16 + V8 =7
A) 2 B) 4
<€) 1/2 (D) g™ ¥ BIS T8 / None of the Above

TP BR 6048 50 B ¢ T B # 54 ol Ugiel B GUT el B | 22 TR UgI
5 fol 20 () T Y o) —

A car consumes 5.4 litres of petrol to cover 60.48 km, how many kilometers be
covered with 22 litres of petrol.

(A) 2464 (B) 23862
(C) 24024 (D) 2435

TH YS! 76 B /gver &) Y | gerh § | A U7 36 Ads H TP @H DI UR ol
g, dl VTS P e § —

A train runs at 76 kmh speed. If it crosses a pole in 36 seconds then what is the
length of train.

(A) 720 HIEX / meter (B) 675 HIeX / meter
(C) 760 IR / meter (D) 630 HIeX / meter
frrferiaa % w1 e () & M W a1 I
What will come in place of question mafk (?) in following:
Jaar =7
(A) 19 (B) 23
C) 21 (D) g™ ¥ B3 2! / None of the Above

T T3S @1 T 3 0 2 1 4 & JFUIG A § T URATY 72 WL T YOI € -

The sides of a triangle are in the ratio 3:2:4 and the perimeter is 72 cm. The sides
are:

(A) 48, 24 12 (B) 24 16, 32
(C) 36, 24, 12 (D) 36, 18, 9

Page 10 of 26



44—

46—

47—

fordfy wfgarg Byel &1 R &R a8 H7r: 10 W 3R 12 &) 21 ) IR% R
Yol B Ta1S a1 g -

The base and altitude of an isosceles triangle are 10 cm and 12 cm respectively.
Then the length of each equal side is:

(A) 10 JH /om (B) 15 TN, /cm
(C) 14 . /em (D) 13 ¥ /em
fmfoRad & ge9 e (?) @ M W @1 smAm:
What will come in place of question mark (?) in following:
ST =2
(A 11 (B) 9
C) 13 (D) 379 A FIE T / None of the Above

e f= A - e 9 R -
Which of the following fraction is the largest -
6 5 7 4

7’ 6’ 8’ 5

(A 6 B) 4
7 5
(C) > Do 7
6 8
ferforiad <ota @ & BT
Solve the following expressions —
1T+11x11-11+11
(A) 22 (B) 121
(C) 13 (D) 11
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49—

51—

52—

4 JFT B FIY 9L G T BT R 7, 10, 15, 21 AR 28 H FARIT IRA W
IS Y ol gl |

Find the greatest number of 4 digits which when divided by 7, 10, 15, 21 and 28
leaves no remainder.

(A) 9999 (B) 9782
(C) 9980 (D) 9660

3 3T P TG BIE) AT ST BT 1 6, 8, 12 3R 20 ¥ frIRid &1 R I
9y el g9 |

Find the smallest number of 3 digits which when divided by 6, 8, 12 and 20 leaves
no remainder.

(A) 120 (B) 150
(C) 210 (D) 140

<) Fel BT AR FHIAE T T EIIadd S 28 TT 336 © | AU
ST W TP AT 112 8, o g e aar g ?

The HCF and LCM of two numbers are 28 and 336 respectively. If one of these
numbers is 112 then what is the other number?

(A) 80 (B) 84
(C) 78 (D) 88

20, 25, 30 Td 36 HT T FHYGID ST DIFoTY |
Find the LCM of 20, 25, 30 and 36.

(A) 790 | (B) 900
~(C) 880 (D) 920

48, 72 T4 84 T HECH FHIYATE STd DIT |
Find the HCF of 48, 72 and 84.
(A) 24 | B) 6
C) 12 D) 3
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53—

55—

56—

57—

feferiad # ued fare (?) @ M W @7 IR
What will come in place of question mark (?) in following:
22524 + 77475 +1 =7

(A)  1,00,000 (B) 1,00,110

(C)  1,00,011 (D) &9 9§ B 7 / None of the Above
feferiaa & 9 o9 &1 7.5 @ a¥Ew & ?
Which of the following is equivalent to 7.5?

(A 750% (B) 0.75%

(C)  75% (D) 75%

Uh hag! TS TS 525 BRI P SR ol £ 15 fAf & b &N $9R
=L

A factory produces 525 cars each week. How many cars are produces in 15 days?

(A) 1025 (B) 1125
(C) 1225 (D) 975
femferaa 7 ueq e (?) @ oM W @1 3RAT:

What will come in place of question mark (?) in following:
2190/2336 =7 |

(A) 13 /16 By 15717
(C) 16/19 (D) 37" ¥ B T8I / None of the Above
Rl BHITY |
Simplify
36 +{8+(6-2)}
A 3 (B) 6
C) 12 D) 18
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58—

59—

60—

61—

10.1, 12.5, 7.25, 14.8, 9.75, 8.08, 9, 7.96 &I 3i¥d a0 DI |
Find the average of 10.1, 12.5, 7.25, 14.8, 9.75, 8.08, 9, 7.96
(A) 898 (B) 9.39
(C) 993 (D) 969

TP T BI 99 144 F M7 S0 & A AP 45 U BT & | o9 98] A B 9 ¥
9T fagr SR A A NG U 2N ?

A number when divided by 144 leaves 45 as remainder. What will be the remainder
when the same number is divided by 9 ?

(A) © (B) 1
€ 2 (D) T | BIE &I / None of the Above

ﬁﬁﬁm%mowﬁuﬁwmﬁ%mzwﬁwa&ﬁwm
HHG © (B0 H) ?

Daisy’s father earns on an average Rs. 4300 a week. How much does he earn in
a year of 52 weeks (in Rs.) ?

(A)  2,32,600 (B)  2.23,600
(C) 3,223,600 (D) 332600

TS XS] 9 HUC # 432 41 o g 77 Sl 8| 98 12 §9¢ H fohem g 77 el
g7

A train covers a distance of 432 km in 9 hours. What distance does it cover in 12
hours ?

(A) 676 (B) 478
(C) 576 (D) 566
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62—

ferfoRad & v e (7) @ IF R 97 IR

What will come in place of question mark (?) in following:

144441 + 11 =2
(A) 13031 (B) 13131
(C) 14311 (D) &% ¥ BIS T81 / None of the Above

Ife i e 31§ Sa g9 8 R 98 75 W DI B, O 98 e © —

If a number is as much greater than 31 as it is less than 75, then the number is-
(A) 106 (B) 48
(C) 51 (D) 53

19 50 TP B TR foras # et O ol @ aravddar ugtl ?

How many digits in all are required to write numbers from 1 to 50 ?

(A) 91 - (B) 96
C) (D) 95
ferferRaa & oo forg () & RIM W 97 IR
What will come in place of question mark (?) in following:
2222 x17 = 7?
(A) 37784 (B) 37874
(C) 37877 (D) 99 9 @I 78l / None of the Above

TRIAN & Udeh! B @ forg 10 I, o=y 3R 6 T AL 750 <Al B SYIT
faar Srer 2| IforaR &7 &% A9, a1 § 31 IR |

750 tiles each 10 cm long and 6 cm wide are used to pave the corridor. Find the
area of the corridor (in cm?). '

(A) 43000 (B) 46000
(C) 45000 (D) 99 ¥ ®IE el / None of the Above
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67—

68—

69—

70—

71—

3 5, 6, 15, ..., 89, 170, 291 I T TEAT B—

The missing number of the sequence 5, 6, 15, ........., 89,170,291 is -
(A) 50 B) 40
€) 42 (D) 32

A 1, 2, 6, 24, x H x B A FIT I —

The value of x in the sequence 1, 2, 6, 24, x is

(A) 46 (B) 56
(C) 9 (D) 120
ferferRad # oo e () & W W 91 IR

What will come in place of question mark (?) in following:

/5500 + 100 +25 =2

(A) 75 (B) 55
C) 65 (D) 9% ¥ BIS 72l / None of the Above
el BT |
Simplify
16-(8+4)x2+8
(A) 24 (B) 0
C) 4 (D) 16

15 HIexX x 12 HIex &1 UG a0 1 Hiex ae AR TORT 3T 2 | IR T &=l
Hier 1 # FT BT |

A garden 15m by 12m is surrounded by a path 1 m wide. Find the area of the
path (in m?)?

(A) 78 (B) 58
(C) 68 (D) 48
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72—

73—

74—

75—

TS BANT 8 HIeX R 3R 65 Hiex TSl 8] F § 65 Hiex o/ 3iR 5 e A
B BT T B | Bl 9 977 3 e &7 3% S P |

A room is 8 m long and 6.5 m wide. A carpet 6.5 m long and 5 m wide is laid in
the room. Find the area of the floor uncovered by the carpet (in m2)?

(A) 195 (B) 205
(C) 193 (D) 185

U QT 12 9 12 0 H TG 125 %0 U 9% & 91g 99 31 | Qi ¥ S
yfceT @M 8 —

A man buys 12 articles for Rs. 12 and sells them at the rate of Rs. 1.25 per article.
His gain percentage is -

(A 20% (B) 25%
(C) 15% (D) 18%

foreil ovg @1 72 W A gE W 10 gRowd @ @ B 81 5 ule &1 o o
oA B oy 99 9] @1 % 90 (B3 §) &1 =ty -

By selling an article for Rs. 72, there is a loss of 10%. In order to gain 5%, its selling
price (in Rs.) should be -

(A) 87 () 85
(C) 80 | (D) 84

U GAHITER U1 axg T e 399 YR 3ifdel vl & 5 25 Uforerd o1 g o9 &
q1E 1 SN 20 Y BN AW BT 71 IR I BT B qed 460 BU B Al SHST

ST T TR A g P

A shopkeeper marks his goods at a price such that after giving a discount of 25%,
he gains 20%. If the cost price of the article is Rs. 460, what is its marked price in
Rs. ?

(A) 736 (B) 748
(C) 725 (D) 752
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76—

77—

79—

25 gforerd, 20 e &R 10 IRRIT & HAF TeC T IR THa 92l o

The successive discount of 25%), 20% and 10% is equivalent to a single discount
of -

(A)  46% (B) 48%
(C) 44% (D) 52%

98 RIS ot €, S 5 wfoerd aiife (365 o) ARIRYT &9 & &R W o W
HR 2,00 URfeT @1 @t afvld aR o ?—

The sum lent at 5% per annum (i.e. 365 days) simple interest, that produces
interest, of Rs. 2.00 a day, is -

(A) 1,400 (B) 14,700
(C) 14,600 (D) 7300

7,300 ®9Y BT 5 Goerd ¥ & B TR 9 11 WS, 1987 W 10 RHARR, 1987 (G
fes1 aftafera) @1 AR ot feemm g 2

The simple interest on Rs. 7,300 from 11 May, 1987 to 10 September, 1987 (both
days included) at 5% per annum is -

(A) 123 (B) 103
(C) 213 (D) 133

I8 el IR AT T W 5 URTd yiigy & AR &rel &) W) SR ®0.1.00
@1 el el ?

The principle which gives Rs. 1.00 interest per day at a rate of 5% simple interest
per annum is -

(A) 5000 (B) 7300
(C) 36500 (D) 3650
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80—

81—

84—

8 I RAERY &S R U AR e &g & < enfy ?

In how much time, at 8% simple interest a sum becomes its two times -
(A) 11 99 / years (B) 5 a9 /years
(C) 9 T9 /years (D) 125 99 / years

¥ Fhgfe ¥ O HRA §Y 10 wfe gt af aiffe =gy @t 1 &7 W 2,000
w0 A o a6t ¥ 662 TR el ?

In how many years will Rs. 2,000 yield Rs. 662 as compound interest at 10% per
annum compounded annually ?

(A 3 . B 2
C) 4 (D) 3

I 10 GfrRTd ST THglg Ol B R W 3 auf are e are s w0 10,648
o | g Ul § a7 o ?

The amount received at 10% per annum compound interest after 3 years is
Rs. 10,648. What was the principal in Rs. ?

(A) 9000 (B) 8000
(C) 8500 (D) 7500

e BleT ] oTwlTs 40 Hicx © 3R 39T &5el 1000 97f Hiex 2| 2t &) e o
BT |

The length of a hall is 40 m and its area is 1000 sq. m. Find the breadth of the hall.

(A) 250 W /m | (B) 25 Al /m
(C) 254 /m (D) 40 HI /m

Udh BRI 12 HIex ol @R 10 Hiew Al 81 fe 1 9t Hiex $ei| $Wd w79 25
g O 39% B W Bl Qo™ @ arTd S PR |

A room is 12m long and 10m broad. Find the cost of carpeting its floor if 1sq.m of
carpet costs Rs. 25.

(A) 30000 (B) 3000
(C) 3100 (D) 3200
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85— 36 T YSll dTel U av 1 gAY Hiex H 3d B |
Find the perimeter (in m) of a square of side 36 cm.

(A) 144 T /m (B) 144 Al /m
(C) 114 % /m (D) T4 ¥ B el / None of the these

86— TP GUIGR Uld P &%l S DIy s aRemg 320 #iex 2
Find the area of a square park whose perimeter is 320 m.

(A) 6600 T HI /m? (B) 6800 T A /m?
(C) 6400 it A /m2 (D). T ¥ BIg 78l / None of the these

87— e el af &1 Yol S FR & I @ I SFABe IR FAT YA TS ?
What happens to the area of a square if its side is doubled ?

(A)  SFGS MET B SR | (B) &AW &I O & SR |

Area becomes half Area becomes double
(C)  &F%el OF T B WRET| (D) T W B TR/
Area becomes thrice None of the these

86— A 96 TAT AR 30 W TS Gk HISTE AR T STAATER & # fibe € @ R
12 T oS 3R 6 T dieTE gl fhaHl ergel @ savgedar gl ?

How many tiles of length 12 cm and breadth 6 cm will be needed to fit in a
rectangular area of length and breadth 96 cm and 39 cm respectively.

(A) 48 (B) 52
(C) 54 (D) 56
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89—

90—

50 A o1 AN TBR eTgel H GEA S DT, T 4 Fex o AR 3 A Ao
BN B B P HA B ol AGLID BT |

Find the number of square tiles each of side 50 cm that will be required to cover
the floor of a room which is 4m long and 3m wide.

(A) 48 (B) 52
(C) 50 (D) 56

TP qIER U BT EFHE UF AADR Ul B A BN ¢ | gie TUMBR A @l
o7 60 HeX & 3R SIAHR UIF B T 90 AR &, A FITBR TP P AT
ST PITT |

The area of a square park is the same as that of a rectangular park. If the side of
the square part is 60 m and the length of the rectangular park is 90 m, find the
breadth of the rectangular park.

(A) 38 (B) 42
(C) 44 (D) 40

91— U B TP FRAER @ ¥ TR A A W A | A A @ R

92—

360 Wex 2, a1 ST &5%a ST BN |

The length of a rectangular plot of land is twice its breadth. If the perimeter of the
plot is 360 m, find its area.

(A) 7200 T AT /m? (B) 7100 T # /m?
(C) 7400 T AT /m? (D) 7600 T A /m?

14 | 50 A o= 3R 6 W 80 N TS AT BT §FABA TN BN |

Find the area of a rectangle 14m 50 cm long and 6m 80 cm wide.
(A) 988 T Al /m? (B) 986 T A /m?
(C) 984 T Al /m? (D) % | PIg T / None of the these
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93— 7 mapfd @1 sl # faIRT @R IS &Fhe FI B, WEi-
Find the area of the following figure by splitting it into rectangles, where —

AB=35cm, BC=8cm, DE=2cm, EF=9cmand AF =10 cm

A B

b C D

F E
(A) 46 T T /m2 (B) 48 T WA /m?
(C) 40 T A /m? (D) 44 T WA /m?

94— TP U9 P U Bl P URAT 20 WA € | TP T+ fba=m g ?

The perimeter of one face of a cube is 20 cm. Its volume will be

(A) 225 HHR /om3 (B) 100 THP /cm?
(C) 125 TR /em?d (D) ™ g T8l / None of the these

95~ UF IR @I THTE 6 HIcY & 3R SHH! AISE 4 Wex 5] GaR # 3 Hex 9 SR
15 HIex TSI U SaTaT of §aTl & | S AR &1 |l &1 o) ®Y 30 Yl aFHiey
g, O TR S GBal & A F B |

The length of a wall is 6 m and its height is 4 m. There is a door of height 3 m and
breadth 1.5 m fitted in the wall. Find the cost of whitewashing the wall, if the rate
of whitewashing the wall is Rs.30 per sq. m.

6m
4m
3m
15
(A) |0 /Rs. 685 (B) %0 /Rs. 595
(C) %0 /Rs. 575 (D) 379 ¥ @1g 78 / None of the these
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98—

100—

99 gl @1 B @ &, ot uRfY 344 Mex B (m = 3.14)

What is the radius of a circle that has a circumference of 3.14 meters? (1 = 3.14)
(A) 19 /m | (B) 15 ¥ /m
(C) 05 a1 /m (D) 94 W PIg 7ol / None of the these

3 +2 (8= 3) P 9 1A BINTT|
Find the value of 3 + 2 (8 - 3).
(A) 25 (B) 13
(C) 15 (D) T ¥ B3 T2 / None of the these

A BH 3T ggr e 3k ¢ 93 ¥ BleT R, 9l B @R D eai £ ¢, D ¥ B
Iy FET 7 7

A is 3 years older to B and 3 years younger to C, while B and D are twins. How
many years older is C than D?

(A) 6 B) 9
(C) 3 (D) 12

T P 7 307 qPR @€ & IR} AR g1 o &1 S a7 3 URF e
27 1S Tl BT AT 5T | S et fAeax forem @i &) smavgear off ?

A farmer built a fence around his square plot. He used 27 fence poles on each side
of the square. How many poles did he need altogether?

(A) 84 (B) 54
(C) 104 (D) $TH & PI T8I / None of the these

I8 U&7 DHINTY R T & T19 13 9% Siies 0 112 W 2T &

Find the number which when added to itself 13 times, gives 112.
(A) 6 B) 9
(C) 8 (D) 7
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Answer Key for Departmental Examination for Assistant Accountant Paper-1l held

on 13.08.2023

Question No. Answer Question No. Answer Question No. Answer
01 c | 35 B 69 A
02 A 36 A 70 C
03 A 37 D 71 B
04 o 38 C 72 A
05 C 39 A 73 B
06 B 40 A 74 D
07 C 41 c 75 A
08 B 42 C 76 A
09 A 43 B 77 C
10 C 44 D 78 A
11 D 45 B 79 B
12 A 46 D 80 D
13 A 47 (o 81 D
14 A 48 D 82 B
15 C 49 A 83 C
16 A 50 B 84 B
17 c 51 B 85 D
18 B 52 C 86 C
19 o 53 C 87 D
20 D 54 A 88 B
21 D 55 B 89 A
22 A 56 D 90 ‘D
23 C 57 A 91 A
24 A - 58 C 92 B
25 C 59 A 93 A
26 B 60 B 94 C
27 B 61 C 95 D
28 A 62 B 96 C
29 B 63 D 97 B
30 A 64 A 98 A
31 B 65 D 99 C
32 c 66 C 100 C
33 A 67 B
34 C 68 D

X,

8
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